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$� .HVLPSXODQ

%HUGDVDNDQ� KDVLO� GDQ� SHPEDKDVDQ� GDUL� SHQHOLWLDQ� JDPEDUDQ�

SHUXEDKDQ� JHUDN� PDQGLEXOD� SDGD� SDVLHQ� 56*0� 80<� GDSDW� GLWDULN�

NHVLPSXODQ� EDKZD� SDVLHQ� GHQJDQ� SHUXEDKDQ� JHUDN� PDQGLEXOD� EHUXSD�

GHIOHNVL� GDQ�GHYLDVL� OHELK�EDQ\DN� GDULSDGD�SDVLHQ� \DQJ� WLGDN�PHQJDODPL�

SHUXEDKDQ� JHUDN� PDQGLEXOD� �QRUPDO�� GDQ� SDOLQJ� EDQ\DN� SDVLHQ� GHQJDQ�

PDORNOXVL� NHODV� ,�� 3HUVHQWDVH� SDVLHQ� \DQJ� PHQJDODPL� GHIOHNVL� GHQJDQ�

PDORNOXVL�NHODV�,��,,��GDQ�,,,�EHWXUXW�WXUXW�VHEHVDU��������������GDQ��������

SDVLHQ� \DQJ� PHQJDODPL� GHYLDVL� VHEHVDU� ������� ������� GDQ� ������

VHGDQJNDQ� \DQJ� WLGDN� PHQJDODPL� SHUXEDKDQ� JHUDN� PDQGLEXOD� VHEHVDU�

������������ GDQ�������

%� 6DUDQ

�� 3HUOXQ\D� SHQHOLWLDQ� OHELK� PHQGDODP PHQJHQDL� IDNWRU� SHQ\HEDE�

SHUXEDKDQ�JHUDN�PDQGLEXOD��

�� 3HUOXQ\D�SHPEDJLDQ�MXPODK�\DQJ�PHUDWD�SDGD�MHQLV�NHODPLQ�ODNL�ODNL�GDQ�

SHUHPSXDQ� DJDU� JDPEDUDQ� SHUXEDKDQ� JHUDN�PDQGLEXOD� GDSDW� WHUSDSDU�

GHQJDQ�MHODV�

�� 3HUOXQ\D�GLODNXNDQ�SHQHOLWLDQ�GHQJDQ�MXPODK�VDPSHO�\DQJ�OHELK�EDQ\DN�

�� 3HUOXQ\D�SHQJJXQDDQ�DODW�\DQJ�OHELK�DNXUDW�GDODP�PHQJXNXU�SHUXEDKDQ�

JHUDN�PDQGLEXOD��


